1. Complete the following table 
	Income
	MPC
	Savings
	APC

	100
	
	40
	

	200
	
	90
	

	
	
	125
	



2. Complete the following table 
	Income
	C
	MPS
	APC

	0
	15
	
	

	50
	50
	
	

	100
	85
	
	

	150
	120
	
	


3. Complete the following table 
	Income
	MPC
	Savings
	APC

	0
	
	-30
	

	100
	0.75
	
	

	200
	0.75
	
	

	300
	0.75
	
	



4. Complete the following table 
	Income
	C
	APS
	MPS

	200
	120
	
	

	400
	220
	
	

	
	250
	
	



5. Complete the following table 
	Income
	APS
	MPS
	C

	1000
	0.5
	
	

	2000
	0.55
	
	

	2500
	0.6
	
	

	
	
	
	



6. 
C= 100+0.5Y In the given economy as the income increases APC will decrease . Justify with a numerical example. 

